. Explain the consistancy of model of existence of
proton-neutron inside the nucleus on the basis of
uncertainty principle.

sffyedar & fagma & AR W s & fide
FEH-=I2[ & e & Afed i HeAld TAeET

. What do you mean by Mass Defect ?
SoAT afd | SRt o Al ® 2

. Explain the physical significance of quadrupole
moment.

TIqYa smYl & Aifdw Hea I THER |

. Explain the merits and limitations of the liquid
drop model of nucleus.

TR & Fa dc TS hi ITATAT T HHE FHAET |
. Explain the hard component of cosmic rays.

aT=fRel fHTol & FHOR TSH I TR

. Explain the lepton number and conservation of
lepton number.

T G T8 92 G S0 &l GAET |
. Explain the construction of proportional counter.

SaTfaeh T &1 sHEE i THETET |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

e - Ty e’ iR ‘T 1 wmel # fawifsa ®1 v
TUE & FRIgER I9 & W

Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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Qugs—31 (iv) Write the value of Baryon number B for up

(atfa &g 3T ue) quark.
frder - wofl el & W Afw) M ST ST B FEATER o9 T % fou AReT 9o B 1 99 fafe )
TH VK, T a1 Afushad 30 i Rt :
R . ] (v) What is the value of 1 barn ?
1. (i) A radioactive substance has half life of 2000 T S F1 AA fRa B & 2
years, then write the value of mean life of (vi) What is the value of packing fraction for
the radioactive substance. Cl29

afs T e 9fora o1d &1 e7g-3mg 2000 I

¥ @ v e W wd W ome am A C12 & o Heper U F1 AW FE 2
I | ™ (vii) Write the value of ratio of Bohr magneton

. . . o to Nuclear magneton.
(i1)) In cyclotron, a particle having nonrelativistic

speed has angular speed o. If speed of the SIEL FE T AR FHT 6 WA ST
qH fafem )
particle becomes —-, then calculate the new )
angular speed of the particle in terms of . Section—B . 4x7=28
Here C represents speed of light. (Short Answer Type Questions)
Ui § TE HU s srEnihE = ¥ Note .— Answer any four questions. Each answer should not
) C exceed 200 words. Each question carries 7 marks.
IGeh! HIVE =T | —
® %. ?TFc: 39 H F =M 5 s
B S ¥, A @ IS H ST K ki A RIONT (e T T
oA HT TOAT HifeT | &l C W HI =1 i . )
S — Y e .- =l 9a” 9wl & SW SfNul o o s W
siferaa 200 IRl H AREIfHG wIfSw
(i) “W* and W~ are known as intermediate 7 st = %) =l ISR Ads =21
fermions.” Is this statement true ? .
CWH I W e wEeH $ =T F o 2. What do you understand by nuclear parity ?
S\ o e T W R 2 TYhTT FHaT F STIHT F1 qqd § 2
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